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8 AMHlA XN& 100,333 95,685 4,648
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01 At 22l 5,773 7,645 N1,872
Odet=2H| 5,773
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—HEsELI=AEX
18,000 * 10&HX+ = 122 2,160
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—0I2A AT AN 2 200,000 * 43| 800
—0IRALZE AMACM 33 * 2,5000f * 155 1,238
—0I=D| 22| 125,000 * 33| 375
S229H| 9,200 9,080 120
O2322 2 HA 9,200
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gt 220 = 10,0000H 2,200
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S -cl-eEEsEMa3 77,760 77,760 0
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—c| & 72,160
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SO &G
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100,000 * 12CH 1,200
— M3 Al X2 187,000 = 12& 2,244
=02l ==cl 25,000 * 4CH 100
—d==AX 5,500
A 4,000,000 4,000
- OlsH2CHoId 500,000 500
0 2 AL 1,000,000 1,000
—2H0I1stE A RANB>+ 200,000 * 12= 2,400
(OPF=ul= =] 22,559
—2ESE 4,500,000 = 2CH 9,000
—2g3 =2 5,253,000 * 1CH 5,253
— &A%t 8,306,000 = 1CH 8,306
Oodxt= 2,000
—2H0I10ISA SHEA AT (MEIZSH)
2,000,000 2,000
401 A &HIL 204 12,000 25,000 A 13,000
01 Al&t| 12,000 25,000 A 13,000
OYUEZZNE Xts4al A 2,000,000 2,000
OFEA U8 9 ST AL 10,000,000 10,000
ARDTISNY 328,350 328,350 0
FU=SH off & 328,350 328,350 0
SR MEEHOAY 188,350 186,350 2,000
101 1 H| 16,350 16,350 0
04 JI2ZtHIZ22NHSES 16,350 16,350 0
OdsrzZ 2tg| 212 35,310 = 4% » 30 4,238
OMNENEZ ZZIHHIIMNY A2
35,310 » 10 30 10,593
OE8z S 14,831,000 = 10.24% 1,519
401 AE6IL S0 122,000 120,000 2,000
01 Al&H| 120,000 120,000 0
OLARMEHAAL(HEHH) 120,000,000 120,000
03 AIE=20bl 2,000 0 2,000
OLARMEHAAA (HEH) 2,000,000 2,000
402 SI2t X201 50,000 50,000 0
01 SIAG2EX 50,000 50,000 0
OLARMEHAAI (HEHH) 50,000,000 50,000
S=2&H| 40,000 22,000 18,000
401 AM&HIL 2048 40,000 22,000 18,000
01 Al&H| 40,000 20,000 20,000
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20,000,000 20,000
OA&t3I22] ADI20IE OtAZHM RIS AH(10a)
20,000,000 20,000
A06tE 2tel 20,000 60,000 240,000
401 Al&HI LR OHYI 20,000 60,000 240,000
01 Al&HI 20,000 60,000 240,000
OMH42|(MEH) SFEXBA 20,000,000 20,000
=0U3s 0l A4 2el 80,000 20,000 60,000
401 A EHIL 204 80,000 20,000 60,000
01 Al&HI 80,000 20,000 60,000
Oot&1el ety AALXI S A 20,000,000 20,000
OUidiel OS2 E1E X3
20,000,000 20,000
O&tal1el Es UL XS A 20,000,000 20,000
OFE2d Es= 2 FAHAE ZEXSAM 20,000
HY2IHH(FEH) 91,254 95,260 24,006
lE2HEY(HEH) 12,800 12,880 A80
eI H| 12,800 12,880 A 80
203 HRF&Hl 11,600 11,680 A 80
01 JI22FHRF&HI 6,600 6,600 0
OJ|22ZdRFAH(HEH)
6,600,000 * 1 6,600
02 HJAINMHRFEHI 800 880 A80
OFJINMALFXH(HEH) 40,000 » 20 800
04 FN2ILRFAHI 4,200 4,200 0
ORN2EYRFXHI(HEH) 350,000 » 122 4,200
204 A=A 1,200 1,200 0
03 SR ESHI 1,200 1,200 0
OHSSYZ22 (BHM)
100,000 *= 1H = 12& 1,200
2z (#28H) 78,454 82,380 A 3,926
Jl2& | 78,454 82,380 A 3,926
201 B3| 53,830 56,460 A 2,630
01 AtS 22/t 53,830 56,460 A2,630
Oget=gH| 18,780
—SAMEX 7 18,000 » 154K * 128 3,240
—ANREES 7Y 90,000 = 20 1,800
—2E2YHASRE 350,000 * 43| 1,400
—S A =2l 200,000 * 3CH = 33 1,800
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—d .2 &S 20,000 = 3CH * 123 720
—JIEt==EH| 500,000 500
o2g+d 29,550
— &y 50,000 * 3652 18,250
— A 50,000 * 1132 = 2JH A 11,300
Oz 2kl 5,500,000 5,500
202 O4Hl 24,624 25,920 AN1,296
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